

Convergence of multiple ergodic averages along cubes for several commuting transformations

Qing Chu

▶ To cite this version:

Qing Chu. Convergence of multiple ergodic averages along cubes for several commuting transformations. 2008. hal-00341285v1

HAL Id: hal-00341285 https://hal.science/hal-00341285v1

Preprint submitted on 24 Nov 2008 (v1), last revised 16 Dec 2009 (v2)

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

CONVERGENCE OF MULTIPLE ERGODIC AVERAGES ALONG CUBES FOR SEVERAL COMMUTING TRANSFORMATIONS

QING CHU

ABSTRACT. In this paper, we give the convergence result of multiple ergodic averages along cubes for several commuting transformations, and the correspondant combinatorial results. The main tools we use are the seminorms and "magic" extension introduced by Host recently.

1. Introduction

In this paper, we give the following convergence result of multiple ergodic averages along cubes for several commuting transformations:

Theorem 1.1. Let $(X, \mu, T_1, \ldots, T_d)$ be a probability system, where T_1, \ldots, T_d are commuting measure preserving transformations. Then for all $f_{\epsilon} \in L^{\infty}(\mu)$, we have the averages

(1)
$$\prod_{i=1}^{d} \frac{1}{N_i - M_i} \sum_{\substack{n_i \in [M_i, N_i) \\ i=1, \dots, d}} \prod_{\substack{\epsilon \in \{0,1\}^d \\ \epsilon \neq 0}} T_1^{n_1 \epsilon_1} \cdots T_d^{n_d \epsilon_d} f_{\epsilon}$$

converge in $L^2(\mu)$ for all sequences of intervals $[M_1, N_1), \ldots, [M_d, N_d)$ whose lengths $N_i - M_i$ $(1 \le i \le d)$ tend to ∞ .

For better understanding, we take d=2 for example, then the formula (1) is

$$\frac{1}{(N_1 - M_1) \times (N_2 - M_2)} \sum_{\substack{n_1 \in [M_1, N_1) \\ n_2 \in [M_2, N_2)}} T_1^{n_1} f_{10} \cdot T_2^{n_2} f_{01} \cdot T_1^{n_1} T_2^{n_2} f_{11}.$$

The case of all the transformations T_i are same was proved by Host and Kra in [4].

Date: November 24, 2008.

²⁰⁰⁰ Mathematics Subject Classification. 37A05, 37A30.

 $Key\ words\ and\ phrases.$ Averages along cubes, commuting transformations, magic system, ergodic seminorms.

When restricting Theorem 1.1 to the indicator function of a measurable set, we have the following lower bound for these averages:

Theorem 1.2. Let $(X, \mu, T_1, \ldots, T_d)$ be a probability system, where T_1, \ldots, T_d are commuting measure preserving transformations, let $A \in \mathcal{B}$. Then the limit of the averages

(2)
$$\prod_{i=1}^{d} \frac{1}{N_i - M_i} \sum_{\substack{n_i \in [M_i, N_i) \\ i=1, \dots, d}} \mu \Big(\bigcap_{\epsilon \in \{0, 1\}^d} T_1^{-n_1 \epsilon_1} \cdots T_d^{-n_d \epsilon_d} A \Big)$$

exists and is greater than or equal to $\mu(A)^{2^d}$ for all sequences of intervals $[M_1, N_1), \ldots, [M_d, N_d)$ whose lengths $N_i - M_i$ $(1 \le i \le d)$ tend to ∞ .

We recall that the upper density $d^*(A)$ of a set $A \in \mathbb{Z}^d$ is defined to be

$$d^*(A) = \limsup_{\substack{N_i \to \infty \\ 1 \le i \le d}} \prod_{i=1}^d \frac{1}{N_i} |A \cap [1, N_1) \times \cdots \times [1, N_d)|.$$

We also have the following correspondent combinatorial result:

Theorem 1.3. Let $A \in \mathbb{Z}^d$ with $d^*(A) > \delta > 0$. Then the set of $n = (n_1, \ldots, n_d) \in \mathbb{Z}^d$, so that

$$d^* \left(\bigcap_{\epsilon \in \{0,1\}^d} \{ A + (\epsilon_1 n_1, \dots, \epsilon_d n_d) \} \right) \ge \delta^{2^d}$$

is syndetic (i.e. intersects nontrivially with all rectangles whose area arbitrarily large in \mathbb{Z}^d).

We remark that the convergence of the multiple averages with several commuting transformations of the form

$$\frac{1}{N} \sum_{n=1}^{N} T_1^n f_1 \dots T_d^n f_d$$

was proved by Conze and Lesigne [2] for two transformations. And the general case was proved by Tao [3], Austin [1], Host [3] and Towsner [6].

We have to mention that, even though our result was covered by the extended results by Austin and Host for \mathbb{Z}^d -action, but our paper present a more explicit understanding about the convergence and the characteristic factor in its "magic" extension system.

The main tools we use in this paper are the seminorms and "magic" extension introduced by Host [3].

2. Seminorm and upper bound

2.1. Notation and definitions. We write $[d] = \{1, 2, ..., d\}$, and identify $\{0, 1\}^d$ with the family of subsets of [d]. Therefore, the assertion " $i \in \epsilon$ " is equivalent to $\epsilon_i = 1$. Especially \emptyset is equivalent to $00 \cdots 0 \in \{0, 1\}^d$. We write $|\epsilon| = \sum_i \epsilon_i$ for the number of elements of ϵ . For $n = (n_1, ..., n_d)$ and $\epsilon = \{i_1, ..., i_k\} \subset [d]$ for some integer $1 \le k \le d$, we write

$$T_{\epsilon}^n = T_{i_1}^{n_{i_1}} \cdots T_{i_k}^{n_{i_k}}.$$

For any transformation S of some system, we denote $\mathcal{I}(S)$ the σ -algebra of sets invariant under S.

We define a measure μ_1 on X^2 by

$$\mu_1 = \mu \times_{\mathcal{I}(T_1)} \mu_1.$$

For $2 \le k \le d$, we define a measure μ_k on X^{2^k} by

$$\mu_k = \mu_{k-1} \times_{\mathcal{I}(T_k^{\triangle})} \mu_{k-1}.$$

where
$$T_k^{\triangle} := \underbrace{T_k \times \cdots \times T_k}_{2^{k-1}}$$
.

We write $X^* = X^{2^d}$, any points of X^* are written as $x = (x_{\epsilon} : \epsilon \subset [d])$. we denote $\mu^* := \mu_d$.

For $f \in L^{\infty}(\mu)$, define

$$|||f||_{T_1,\dots,T_d} := \left(\int \prod_{\epsilon \in \{0,1\}^d} f(x_\epsilon) d\mu^*(x)\right)^{1/2^d}.$$

It was shown by Proposition 3 in [3], $\|\cdot\|_{T_1,\dots,T_d}$ is a seminorm on $L^{\infty}(\mu)$. We call it the box seminorm associated to T_1,\dots,T_d .

For $\epsilon \subset [d]$, $\epsilon \neq \emptyset$, we write $\|\cdot\|_{\epsilon}$ for the seminorm on $L^{\infty}(\mu)$ associated to the transformations T_i , $i \in \epsilon$. For example, $\|\cdot\|_{110\cdots 00}$ is the seminorm associated to T_1, T_2 because $\epsilon = 110 \cdots 0 \in \{0, 1\}^d$ is identified with $\{1, 2\} \subset [d]$.

By Proposition 2 in [3], we know that if we exchange the ordering of digits in [d], the measure of each step in our construction will be changed by permutation, but the seminorm $\|\cdot\|_{\epsilon}$ will only depend on transformations $T_i, i \in \epsilon$, not on their ordering.

2.2. **Upper bound.** In the following, we assume that all functions f_{ϵ} , $\epsilon \subset [d]$, are real valued and satisfy $|f_{\epsilon}| \leq 1$.

Proposition 2.1.

(3)

$$\limsup_{\substack{N_i-M_i\to\infty\\i=1,\dots,d}} \left\| \prod_{i=1}^d \frac{1}{N_i-M_i} \sum_{n\in[M_1,N_1)\times\dots\times[M_d,N_d)} \prod_{\substack{\epsilon\subset[d]\\\epsilon\neq\emptyset}} T^n_\epsilon f_\epsilon \right\|_{L^2(\mu)} \leq \min_{\substack{\epsilon\subset[d]\\\epsilon\neq\emptyset}} \|f_\epsilon\|_{T_1\dots T_d}.$$

Proof. We proceed by induction on d. For d = 1, we have

$$\left\| \frac{1}{N_1 - M_1} \sum_{n_1 \in [M_1, N_1)} T_1^{n_1} f_1 \right\|_{L^2(\mu)}^2 \to \int \mathbb{E}(f_1 | \mathcal{I}(T_1))^2 d\mu = \| f_1 \|_{T_1}^2.$$

Let $d \geq 2$ and assume that (3) is established for d-1 transformations. We show that for every given $\alpha \subset [d], \alpha \neq \emptyset$, the limsup of the the left side of (3) is $\leq \|f_{\alpha}\|$. By exchanging the digits if needed, we can assume that $\alpha \neq \underbrace{0 \dots 0}_{d-1} 1$. We have the square of the norm in the left side of (3) is equal to

$$\begin{split} \left\| \frac{1}{N_d - M_d} \sum_{n_d \in [M_d, N_d)} T_d^{n_d} f_{0\dots 01} \cdot \prod_{i=1}^{d-1} \frac{1}{N_i - M_i} \sum_{m \in [M_1, N_1) \times \dots \times [M_{d-1}, N_{d-1})} \\ & \prod_{\substack{\eta \subset [d-1] \\ \eta \neq \emptyset}} T_{\eta}^m (f_{\eta 0} \cdot T_d^{n_d} f_{\eta 1}) \right\|_{L^2(\mu)}^2 \\ \leq \frac{1}{N_d - M_d} \sum_{n_d \in [M_d, N_d)} \left\| \prod_{i=1}^{d-1} \frac{1}{N_i - M_i} \sum_{m \in [M_1, N_1) \times \dots \times [M_{d-1}, N_{d-1})} \\ & \prod_{\substack{\eta \subset [d-1] \\ \eta \neq \emptyset}} T_{\eta}^m (f_{\eta 0} \cdot T_d^{n_d} f_{\eta 1}) \right\|_{L^2(\mu)}^2. \end{split}$$

By the induction hypothesis, when $N_i - M_i \to \infty$, i = 1, ..., d - 1, we have the limsup of the square of the norm in the above formula is less than

$$\min_{\substack{\eta \subset [d-1]\\ \eta \neq \emptyset}} \| f_{\eta 0} \cdot T_d^{n_d} f_{\eta 1} \|_{T_1, \dots, T_{d-1}}^2.$$

where $\|\cdot\|_{T_1,\dots,T_{d-1}}$ is the seminorm associated to the d-1 transformations T_1,\dots,T_{d-1} .

Note that α is equal to $\eta 0$ or $\eta 1$ for some $\eta \subset [d-1]$, and by the Cauchy-Schwartz Inequality, we have

$$\lim_{N_{d}-M_{d}\to\infty} \frac{1}{N_{d}-M_{d}} \sum_{n_{d}\in[M_{d},N_{d})} \|f_{\eta 0}\cdot T_{d}^{n_{d}}f_{\eta 1}\|_{T_{1},...,T_{d-1}}^{2^{d-1}}$$

$$= \lim_{N_{d}-M_{d}\to\infty} \frac{1}{N_{d}-M_{d}} \sum_{n_{d}\in[M_{d},N_{d})} \int \bigotimes_{\eta\subset[d-1]} (f_{\eta 0}\cdot T_{d}^{n_{d}}f_{\eta 1})d\mu_{d-1}$$

$$= \int \mathbb{E}(\bigotimes_{\eta\subset[d-1]} f_{\eta 0}|\mathcal{I}(T_{d}^{\triangle})\cdot \mathbb{E}(\bigotimes_{\eta\subset[d-1]} f_{\eta 1}|\mathcal{I}(T_{d}^{\triangle})d\mu_{d-1}$$

$$\leq \left(\int |\mathbb{E}(\bigotimes_{\alpha\subset[d]} f_{\alpha}|\mathcal{I}(T_{d}^{\triangle}))|^{2}d\mu_{d-1}\right)^{1/2}$$

$$= \left(\int \bigotimes_{\alpha\subset[d]} f_{\alpha}d\mu^{*}\right)^{1/2} = \|f_{\alpha}\|_{T_{1},...,T_{d}}^{2^{d-1}}.$$

We are done. \Box

The following proposition can be considered as a generality of Proposition 2.1, but its proof uses Proposition 2.1.

Proposition 2.2. Let r be an integer with $1 \le r \le d$. Then (4)

$$\limsup_{\substack{N_i - M_i \to \infty \\ i = 1, \dots, d}} \left\| \prod_{i = 1}^d \frac{1}{N_i - M_i} \sum_{n \in [M_1, N_1) \times \dots \times [M_d, N_d)} \prod_{\substack{\epsilon \subset [d] \\ 0 < |\epsilon| < r}} T_{\epsilon}^n f_{\epsilon} \right\|_{L^2(\mu)} \le \min_{\substack{\epsilon \subset [d] \\ |\epsilon| = r}} \|f_{\epsilon}\|_{\epsilon}$$

Proof. For $\alpha \subset [d]$ with $|\alpha| = r$ we want to show that the above $\limsup \le \|f_{\alpha}\|_{\alpha}$.

Up to a permutation of digits we can restrict to the case that

$$\alpha = \underbrace{11\dots 1}_r 00\dots 0.$$

We show that,

(5)
$$\limsup_{\substack{N_{i}-M_{i}\to\infty\\i=1,\dots,d}} \| \prod_{i=1}^{d} \frac{1}{N_{i}-M_{i}} \sum_{n\in[M_{1},N_{1})\times\cdots\times[M_{d},N_{d})} \prod_{\substack{\epsilon\subset[d]\\0<|\epsilon|\leq r}} T_{\epsilon}^{n} f_{\epsilon}\|_{L^{2}(\mu)} \leq \| f_{\alpha}\|_{\alpha}.$$

The norm in (5) is equal to

$$\|\prod_{i=r+1}^{d} \frac{1}{N_{i} - M_{i}} \sum_{m \in [M_{r+1}, N_{r+1}) \times \dots \times [M_{d}, N_{d})} \prod_{\epsilon \subset \{r+1, \dots, d\}} T_{\epsilon}^{m} f_{\epsilon} \cdot \prod_{i=1}^{r} \frac{1}{N_{i} - M_{i}}$$

$$\sum_{n \in [M_{1}, N_{1}) \times \dots \times [M_{r}, N_{r})} \left(\prod_{\substack{\eta \subset [r] \\ \eta \neq \emptyset}} T_{\eta}^{n} \prod_{\substack{\theta \subset [d-r] \\ |\eta\theta| \leq r}} T_{r+\theta}^{n} f_{\eta\theta}\right) \cdot \left(T_{1}^{n_{1}} \cdots T_{r}^{n_{r}} f_{\alpha}\right) \|_{L^{2}(\mu)}.$$

where $r + \theta = \{r + i, i \in \theta\}.$

Let

$$g_{\eta} = \begin{cases} \prod_{\substack{\theta \subset [d-r] \\ |\eta\theta| \le r}} T_{r+\theta}^{n} f_{\eta\theta} & 0 < |\eta| < r \\ \underbrace{f_{\underbrace{1 \dots 1}}_{r} 0 \dots 0} & |\eta| = r \end{cases}$$

Then the above is equal to

$$\left\| \prod_{i=r+1}^{d} \frac{1}{N_i - M_i} \cdot \sum_{m \in [M_{r+1}, N_{r+1}) \times \dots \times [M_d, N_d)} \left(\prod_{\epsilon \subset \{r+1, \dots, d\}} T_{\epsilon}^m f_{\epsilon} \right) \right\|_{L^2(\mu)} \cdot \left\| \prod_{i=1}^{r} \frac{1}{N_i - M_i} \cdot \sum_{n \in [M_1, N_1) \times \dots \times [M_r, N_r)} \left(\prod_{\substack{\eta \subset [r] \\ \eta \neq \emptyset}} T_{\eta}^n g_{\eta} \right) \right\|_{L^2(\mu)}.$$

By the Cauchy-Schwartz Inequality, the square of the norm in (5) is less than

$$\prod_{i=r+1}^{d} \frac{1}{N_i - M_i} \sum_{m \in [M_{r+1}, N_{r+1}) \times \dots \times [M_d, N_d)} \left\| \prod_{i=1}^{r} \frac{1}{N_i - M_i} \sum_{n \in [M_1, N_1) \times \dots \times [M_r, N_r)} \prod_{\substack{\eta \subset [r] \\ n \neq \emptyset}} T_{\eta}^n g_{\eta} \right\|_{L^2(\mu)}^2.$$

By Proposition 2.1, let $N_i - M_i \to \infty$, i = 1, ..., r, this is bounded by

$$\prod_{i=r+1}^{d} \frac{1}{N_i - M_i} \sum_{\substack{n_i \in [M_i, N_i) \\ i=r+1, \dots, d}} \|f_{\underbrace{11 \dots 1}_r 00 \dots 0}\|_{T_1, \dots, T_r}^2 = \|f_{\underbrace{11 \dots 1}_r 00 \dots 0}\|_{T_1, \dots, T_r}^2.$$

This finishes our proof.

3. The case of the magic extension

In the sequel, $(X^*, \mu^*, T_1^*, \dots, T_d^*)$ denotes the "magic" system associated to $(X, \mu, T_1, \dots, T_d)$ (see [3]). Recall that X^* and μ^* are defined in Section 2.1. We denote T_i^* the *side transformations* of X^* , which are given by

for every
$$\epsilon \in \{0,1\}^d$$
, $(T_i^*x)_{\epsilon} = \begin{cases} T_i x_{\epsilon} & \text{if } \epsilon_i = 0; \\ x_{\epsilon} & \text{if } \epsilon_i = 1. \end{cases}$

We use notation similar to the notation introduced above.

For $\epsilon \subset [d]$, $\epsilon \neq \emptyset$, we write $\|\cdot\|_{\epsilon}^*$ for the seminorm on $L^{\infty}(\mu^*)$ associated to the transformations T_i^* , $i \in \epsilon$. Moreover, we define the σ -algebra

$$\mathcal{Z}_{\epsilon}^* := \bigvee_{i \in \epsilon} \mathcal{I}(T_i^*).$$

of (X^*, μ^*) . For example, $\mathcal{Z}^*_{\{1,2,d\}} = \mathcal{I}(T_1^*) \vee \mathcal{I}(T_2^*) \vee \mathcal{I}(T_d^*)$.

We prove Theorem 1.1 for the magic system $(X^{2^d}, \mu^*, T_1^*, \dots, T_d^*)$.

Theorem 3.1. Let f_{ϵ} , $\epsilon \subset [d]$, be functions on X^{2^d} with $||f_{\epsilon}||_{L^{\infty}(\mu^*)} \leq 1$ for every ϵ . Then

(6)
$$\prod_{i=1}^{d} \frac{1}{N_i - M_i} \sum_{\substack{n \in [M_1, N_1) \times \dots \times [M_d, N_d) \\ \epsilon \neq \emptyset}} \prod_{\substack{\epsilon \subset [d] \\ \epsilon \neq \emptyset}} T_{\epsilon}^{*n} f_{\epsilon}$$

converge in $L^2(\mu^*)$ for all sequences of intervals $[M_1, N_1), \ldots, [M_d, N_d)$ whose lengths $N_i - M_i$ $(1 \le i \le d)$ tend to ∞ .

Theorem 3.2. For every $\epsilon \subset [d]$, $\epsilon \neq \emptyset$, and every function $f \in L^{\infty}(\mu^*)$ we have:

(7) If
$$\mathbb{E}_{\mu^*}(f \mid \mathcal{Z}_{\epsilon}^*) = 0$$
 then $|||f|||_{\epsilon}^* = 0$.

Proof. Assume $|\epsilon| = r > 0$. By a permutation of the coordinates we can assume that

$$\epsilon = \{d - r + 1, d - r + 2, \dots, d\}$$

for some r with $1 \le r \le d$.

We define a new system $(Y, \nu, S_1, \ldots, S_r)$, where $Y = X^{2^{d-r}}$, $\nu = \mu_{d-r}$, the d-r step measure associated to T_1^*, \ldots, T_{d-r}^* , and $S_i = \underbrace{T_{d-r+i} \times \cdots \times T_{d-r+i}}$. Note that by definition, $Y^* = X^{2^d} = X^*$, $S_i^* = \underbrace{T_{d-r+i} \times \cdots \times T_{d-r+i}}_{2^{d-r}}$.

$$T_{d-r+i}^*, i = 1, \dots, r, S_i^{\triangle} = T_{d-r+i}^{\triangle}, i = 1, \dots, r.$$
 Moreover $\nu_1 = \nu \times_{\mathcal{I}(S_1)}$ $\nu = \mu_{d-r} \times_{\mathcal{I}(T_{d-r+1}^{\triangle})} \mu_{d-r} = \mu_{d-r+1},$ and by induction, $\nu_{i+1} = \nu_i \times_{\mathcal{I}(S_{i+1}^{\triangle})}$

 $\nu_i = \mu_{d-r+i} \times_{\mathcal{I}(S_{i+1}^{\triangle})} \mu_{d-r+i} = \mu_{d-r+i} \times_{\mathcal{I}(T_{d-r+i+1}^{\triangle})} \mu_{d-r+i} = \mu_{d-r+i+1},$ $i = 1, ..., d-1. So we get its magic extension <math>(Y^*, \nu^*, S_1^*, ..., S_r^*)$ is just $(X^*, \mu^*, T_{d-r+1}^*, ..., T_d^*)$. So

$$\mathcal{W}_Y^* := \bigvee_{i=1}^r \mathcal{I}(S_i^*) = \bigvee_{i \in \epsilon} \mathcal{I}(T_i^*) = \mathcal{Z}_{\epsilon}^*.$$

If $f \in L^{\infty}(\mu^*)$, $\mathbb{E}_{\mu^*}(f \mid \mathcal{Z}_{\epsilon}^*) = 0$, this is equivalent to $\mathbb{E}_{\mu^*}(f \mid \mathcal{W}_Y^*) = 0$, and by Theorem 1 in [3], we have $|||f|||_{S_1^*,...,S_r^*}^* = 0$. Thus $|||f||_{\epsilon}^* = |||f||_{S_1^*,...,S_r^*}^* = 0$

Proposition 3.3. Let f_{ϵ} , $\epsilon \subset [d]$, be functions on X^{2^d} with $||f_{\epsilon}||_{L^{\infty}(\mu^*)} \leq 1$ for every ϵ . Let r be an integer with $1 \leq r \leq d$. Then the averages

(8)
$$\prod_{i=1}^{d} \frac{1}{N_i - M_i} \sum_{\substack{n \in [M_1, N_1) \times \dots \times [M_d, N_d) \\ 0 < |\epsilon| \le r}} \prod_{\substack{\epsilon \subset [d] \\ 0 < |\epsilon| \le r}} T_{\epsilon}^{*n} f_{\epsilon}$$

converge in $L^2(\mu^*)$ for all sequences of intervals $[M_1, N_1), \ldots, [M_d, N_d)$ whose lengths $N_i - M_i$ $(1 \le i \le d)$ tend to ∞ .

We remark that the Theorem 3.1 follows immediately from the case r = d of this proposition.

Proof. We proceed by induction on r. For r=1, the convergence was known (see remarks in Section 1). For r>1, assume that the proposition is true for r-1 transformations, we prove it for the system with r transformations.

For $\alpha \subset [d]$, $|\alpha| = r$, if $\mathbb{E}_{\mu^*}(f_\alpha \mid \mathcal{Z}_\alpha) = 0$, then by Theorem 3.2, we have $|||f_\alpha|||_{\alpha}^* = 0$. By Proposition 2.1, we have the averages (8) converge to 0. Otherwise, by density, we can assume that

$$f_{\alpha} = \prod_{i \in \alpha} f_{\alpha,i}$$

where $f_{\alpha,i}$ is T_i^* -invariant. Then

$$T_{\alpha}^{*n} f_{\alpha} = \prod_{i \in \epsilon} T_{\alpha \setminus \{i\}}^{*n} f_{\alpha,i}.$$

Thus

$$\prod_{\substack{\epsilon \subset [d] \\ 0 < |\epsilon| \leq r}} T_{\epsilon}^{*n} f_{\epsilon} = \prod_{\substack{\eta \subset [d] \\ 0 < |\eta| \leq r-1}} T_{\eta}^{*n} g_{\eta}$$

where

$$g_{\eta} = \begin{cases} f_{\eta} & |\eta| < r - 1\\ f_{\eta} \prod_{i \notin \eta} f_{\eta \cup i, i} & |\eta| = r - 1 \end{cases}$$

So we get (8) converges by the induction hypothesis.

4. Combinatorial interpretation

Proof of Theorem 1.2. By Theorem 1.1, applied to the indicator function $\mathbf{1}_A$, we know that the average

(9)
$$\prod_{i=1}^{d} \frac{1}{N_i - M_i} \sum_{\substack{n_i \in [M_i, N_i) \\ i=1, \dots, d}} \int \prod_{\epsilon \in \{0, 1\}^d} T_1^{n_1 \epsilon_1} \cdots T_d^{n_d \epsilon_d} \mathbf{1}_A d\mu$$

converges. By Lemma 1 in [3], if we take the limit for $N_1 - M_1 \to \infty$, then for $N_2 - M_2 \to \infty$, ... and then for $N_d - M_d \to \infty$, the average (9) converges to $\|\mathbf{1}_A\|_{T_1,...,T_d}^{2^d}$, so we have (9) converge to $\|\mathbf{1}_A\|_{T_1,...,T_d}^{2^d}$. Since

$$|||f|||_{T_1,\dots,T_d}^{2^d} = ||\mathbb{E}(\bigotimes_{\epsilon \in \{0,1\}^d} f | \mathcal{I}(T_d^{\triangle}))||_{L^2(\mu)}^2 \ge (\int \bigotimes_{\epsilon \in \{0,1\}^{d-1}} f d\mu_d)^2 = |||f||_{T_1,\dots,T_{d-1}}^{2^d},$$

we have $|||\mathbf{1}_A|||_{T_1,...,T_d} \ge |||\mathbf{1}_A|||_{T_1} \ge \int \mathbf{1}_A d\mu = \mu(A)$, and the result follows.

Theorem 1.2 has the following corollary:

Corollary 4.1. Let $(X, \mu, T_1, \ldots, T_d)$ be a system, where T_1, \ldots, T_d are commuting measure preserving transformations, let $A \in \mathcal{B}$. Then for any c > 0, the set of $n \in \mathbb{Z}^k$ such that

$$\mu(\bigcap_{\epsilon \in \{0,1\}^d} T^{\epsilon \cdot n} A) \ge \mu(A)^{2^d} - c$$

is syndetic.

The proof is exactly the same as Corollary 13.8 in [4].

Theorem 1.3 follows by combining Furstenberg's correspondence principle and Corollary 4.1.

References

- 1. T. Austin, On the norm convergence of nonconventional ergodic averages. (2008), submitted. Available at http://arxiv.org/abs/0805.0320.
- 2. J.P. Conze and E. Lesigne. *Théorèmes ergodiques pour des mesures diagonales*. Bull. Soc. Math. France 112 (1984), no. 2, 143–175.
- 3. B. Host, Ergodic seminorms for commuting transformations and applications. Available at http://fr.arxiv.org/abs/0811.3703.
- 4. B. Host and B. Kra, Nonconventional ergodic averages and nilmanifolds. Annals of Math. 161, 1 (2005) 397-488.
- 5. T. Tao, Norm convergence of multiple ergodic averages for commuting transformations. Ergodic Theory and Dynamical Systems 28 (2008), 657-688.

6. H. Towsner, Convergence of diagonal ergodic averages. Preprint. Available at ${\rm http://arxiv.org/abs/0711.1180.}$

Université Paris-Est, Laboratoire d'Analyse et de mathématiques appliquées, UMR CNRS 8050, 5 bd Descartes, 77454 Marne la Vallée Cedex 2, France

 $E ext{-}mail\ address: qing.chu@univ-mlv.fr}$